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Part: Part-I

Use a Separate Answer-Script for Each Part
Answer any 2 (Two) questions

Plate Parallels and Iso-Metric Paraliels.

I (b) With a neat diagram deduce the expression for ﬁnd'ing out the height of a cloud from the 12 -
' image of the cloud and its shadow taken from a flight.

2. (). With neat diagrams deduce the expressions to find out the.shadow length on a horizontal and 6
an nclinéd plane (both uphill and downhill) when the angle of solar insolation is ¥ and the
ground.slope is A for inclined plane.

2. (b) With neat diagrams deduce the expressions for ‘Air Base’ In relation to Stereoscopic Study, 7+ 7
- and ‘Displacement in Stereoscopic Pairs. ‘

()

- {a)  Describe the flight planning to have sufficient air cover of an area during photogrammetry 10+2

3. (by  1:20000 scale photographs with 230 mm x 230 mm format are taken of a fairly level ground 4+4
- with fore and aft overlap of 60%. Find the minimum number of photographs to give
stereoscopic cover of a land 30 k) long. If the latera] overlap for the strip is 20% what wil
be total number ofphotograph_s for a ground coverage of 30 km x 20 km.
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Question _APartll (60 Marks) Marks
No.
Answer question 1 as compulsory, and any TWO questions from 2, 3, and 4 in this Part
1 (a) | Whatis FCC? Make a list of the basic information which can be obtained from a FCC. 245=7
(b) | Why the vegetation shows red in FCC? 3
2 (a) | Define ‘Remote Sensing’ and ‘Satallite Remote Sensing'. 141=2
(b) | Whatis the objective of ‘Satellite Remots Sensing? 3
(¢) | Discuss with & neat sketch about the ranges of ‘Electromagnetic Spectrum’ applicable for ‘Satellite 9
Remote Sensing.
(d) | Explain briefly about the different types of ‘Energy Interactions in the Atmosphere’ 9
(e) | Define ‘Spectral Reflectance’ and express its quantification. 2
3 (a) | “Spectral reflectance data collected by Reflectometer for two different features may be same, and 4
similar featurss may be different”. Explain the correctness of the statement.
(b) | How do you use GPS in remote sensing work? Write down the utility of the data collected by GPS. 241=3
(¢} | Whatis called Geo-referencing in digital image processing? Why itis essential? How it can be done? 3+2+3=8
{d) | Vhatiype of data is used to do the Geo-referencing? Which one is appropriate? 3+2=5
(@) | Indicate the reflectance value (typically) as high, medium or low for the following features: 10x’: =5
(i) Shallow water, (ii) Shallow water with suspended sediment; (iii) Deep water; (iv) Poiluted Water;
(v} Dry sand; (vi) New concrete roof; {vii) Mud flat; (vili) Wet sand; (ix) Dense forest with larger feaves
tree, (x) Flowing water.
4 (a) | Whatis the important parameter for digital image classification? What are the different parts of ‘image | 1+242=5
enhancement'? Why the ‘image enhancement’ is required for satellite image?
(b) | Whatis ‘Ground Truth Verification (GTV)'? Why it is essential? 3+2=5
(e} | Why *Contrast Stretching” of a satellite image is required? Draw and discuss the different principles of 2+5=7
‘Contrast Stretching”.
{d) | Differentiate between ‘supervised' and ‘unsupervised classification. Which one is the final production for 4+1=5

(e)

a complete map preparation?

A group of same spacies of trees existing on both side of a hill. The group of trees or one side of the hill
is showing different reddish tone than the trees on other side of the hill. Why? How do you identify that
they are of same species?

1+2=3




